21

211

(Direct Material)

(Direct Labor)



212

(Manufacturing  Cost)
Administrative)

1
(Factory Cost)

(Conversion  Cost)

(Factory Overhead Cost)

(Marketing  and

(Production Cost)

(Prime Cost)



2.13



2.14 (Process Cost System)

(Mass Production)
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(Work-in-Process)
(Work-in-Process  Inventory)
Finished Unit)

100

(Cost of Ending Work-in-Process)

(Cost of Transfer)

10

(Equivalent

50






4,000
50% 60%
2,000 (
0.50 x 4,000)
2,400 (0.60 x 4,000)
2,
3.
4,
2.15 (Activity Base Costing  ABC)
ABC

ABC 4



L Unit Level Activity
Unit Level Cost

2. Batch Level Activity
Batch
Setup
Batch

3. Product Sustaining Activity

Batch 1

4. Facility Sustaining Activity

Sustaining (Period Cost)
(Arbitrary Allocation)

2.16

Batch

13

Batch-Level Cost

Batch

Common Cost

Facility
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2
(Generally Accepted Accounting Principles
GAAP)
3
4, (Common Cost)
(Arbitrary Allocation)
217
5
1
2

(Activity Consumes Resources &
Product or Service Consume Activities)”

(Output) (Output)
(Cost Objects)

(Value-added Activity) (Non-
value-added Activity) 1 ‘



Activity)
)

Process”
2)
3)
Job Description
4)

Input

15

(Necessary
(Unnecessary Activity)

“Business Process”

Suppliers,

Output Output
“Business

(Responsibility  Center)

Job  Description

Activity Dictionary

Activity Dictionary
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“Cost Element”

“Cost Element”
“Cost Mapping”

“Traceable Cost”

Cost Mapping
“Arbitrary”

4, (Cost Driver)

“Activity Hierarchy”
(Causal Relationship)
“Transaction Driver” “Duration Driver”

Setup Setup
Setup
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Setup

1) (Causal Relationship)

2) (Benefits received)

3) (Reasonableness)

b, (Cost Driver Rate)
“Cost  Object”
“Bill of Activity”
100%
ABC
ABC
ABC

ABC Cost

Element Cost Element



(Cost Object) (Cost Object)

21

1 N
3/ @ oi o/

1
G_ 1
B, B B wd EP e
i
P
.35 LI\ E J
YT WA
Unit Batch Product Facility
Level Level
Fuii 2

21

18



218

(Cost Object)

19

(Direct Allocation Method)

(Step Allocation  Method)

(Reciprocal Allocation Method)



2

()
Probability
(2
Probability
(3
Probability
(4
Probability

19

Direct Cost

(
17,000

13,700
10,500
10,000

Allocation Base Rate
():109,000

()55
():250

(f2) 50,000 ft2

Direct Cost

) (
(): 31,000
(2: 37,500
(3 46,800
(4 / 11,500

(Allocate Base Table)

(J (3 (3 (49 () (P

40,000 32,000
0.367 0.294
3 - 4 3 10 8
0.055 0.072  0.055 0182  0.145
50 70
0.20 0.28
6,000 3,800 5,100 - 8,300 6,500
0.120  0.076  0.102 0.166  0.130

20

)

(PY
23,000
0.211
15
0.273
100
0.40
13,200
0.264

(p<>
14,000

0.128
12
0.218
30
0.12
7,100
0.142



1) (Direct Method)

L (Probability)

Allocation Base Rate (P)
() () 109,000 40,000
Probability 0.367
(2 ()45 10
Probability 0.222
(3 ():250 50
Probability 0.20
(4 (ft) 35,100 ft2 8,300
Probability 0.237

2.

Allocation Base Rate
() 31,000
(12 :37,500
(1)) :46,800
(4 111500
Total Allocated Cost
()t 9+ ( 3+ (9
Direct Cost of (P,), (P2, (P3 and (P4
Total Cost

(P,)
11,376

8,333
9,360
2,119
31,788

17,000
48,788

(P2
32,000
0.294
8
0.178
70
0.28
6,500
0.185
(Fixed Cost)

(P (P3)
9,101 6,541
6,667 12,500
13,104 18,720
2,130 4,325

31,002 42,086
13,700 10,500
44,702 52,586

(P3)
23.000
0.211

15

0333

100

0.40
13,200
0.376

(P4
3,082

10,000
5,616

2,326
21,924

10,000
31,924

«V
14,000

0.128
12
0.267
30
0.12
7,100
0.202

31,000

37,500
46,800

11,500
126,800

51,200
178,000



2) (Step Allocation Method)

Allocation Base Rate

() () 109,000
Probability
(2 ()9
Probability
(3 (- ):250
Probability
(4 (ft) :50,000 ft2
Probability

2.

Allocation Base Rate
(4 (ft2 50,000 ft2
Probability
(2 ()%
Probability
() () 109,000
Probability
(3 () 250

Probability

() (2 (3
3 4
0.055 0.072
6,000 3,800 5,100
0.120 0.076 0.102
(4>(2->()>(3
(2 () (3§ 1 (P)
3800 6000 5100 8300
0076 0120 0102  0.166
3 4 10
0058 0.077 0192
40,000
0.367
50
0.20

22

3
0.055 0.182

0.298

P M )
5500 13200 7100
0130 0264 0142

8 15 12
0.154 0.288 0.231
32,000 23,000 14,000
0.294 0.211 0.128

70 100 30

0.28 0.40 0.12



Allocation Base Rate

37,500+874

()

31,000+ 1,380+ 2,213.885

KK
56,800+ 1,173+ 2,951.846
(9+(2+(3+(49
Direct Cost of
(P), (P2, (P3 and (PH)
Total Cost

1
(2 (v (3
874 1380 1173
2214 2,952

(Direct Cost)

P) 2

1909 L1495

7380 5,904
12,695 10,156
10,185 14,259
32,169 31,814
17,000 13,700
49,169  45.514

(Reciprocal Allocation Method)

(Cost Equation)

p = 17000+ 0367 +0.182 2+0.20 3+0.166
p2 = 13700+029  +0.145 2+028 3+0.130
p3 = 10500+0211 +0273 2+040 3+0.264
p4 = 10000+0128 +0218 2+012 3+0.142

= 31,000+ +0055 2+
2 = 37500 +

. = 46800+ HO0T2 4+
, = 11500+ +0055 2

+0.120
+0.076
+0.102

()

3,036
11,069
7,300
20,370

41,775
10,500

52,275

23

()

1,633
8,856
4,443
6,111

21,043
10,000

31,043

178,000



o O o o o o

o O o o o o

0P, +0P2+0P3+0P4

2
0 0 -0.367
0 0 -0.294
1 0 -0.211
0 1 -0.128
0 0 1
0 0 0
0 0 0
0 0 0

-0.367
-0.294
-0.211
-0.128

-0.182

-0.145

-0.273

-0.218

-0.055

-0.072

-0.055

1-0.182 2-0.20 3-0.166 4

1-0.145 2-0.28 3-0.130 4
1-0.273 2-040 3- 0.264 4

-0.218 2-0.12 3-0.142 4
-0.055 2 -0.120 4
+ 12 -0.076 4
- 0072 2+ 1 3-0.102 4
-0.055 + 14
020 -0.166 P,
028 -0.130 P2
040 -0.264 03
012 -0.142 p4

0 -0.120 |

0 -0.076 2

1 -0.102 3

0 1

17,000
13,700
10,500
10,000
31,000
37,500
46,800
11,500

17,000
13,700
10,500

10,000

= 31,000

37,500
46,800

11,500

24



O O O O O o o o

O O O O O O =

O O O O O b O O

X=A18

0 0367 02302 02

0 0294 0198 028

0 021 033 040

1018 024 012

0 1 006190

0 0 10820

0 0 0079 1

0 0 00520
Al

P 29221

02 45,546

3 3%

ol 30,889

178,800

0.2479
0.2085
0.355

0.1881
0.1247
0.0763
0.1079
1.0042

13,700
13,700
10,500
10,000
31,000
37,500
46,800
11,500

25



(2542)

(254)

26



(254))

(2549)

21

27



(2544)

(2544)

(2547)

(2549)

28
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